I) Find all primitive and nonprimitive Pythagorean triples (z,y,z), where = or y equals 12,
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II) If we know that there are 5 solutions to ¢(x) = 20, then find 4 of them.
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ITII) Define the Mobius function g and prove that u is multiplicative.
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IV) If p > 2 is prime and p = a? + b?, then show that p =1 (mod 4).
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V) What is a preudoprime to the base b? Giv .
) o iy ase b Give an example of psendoprime to the
showing vour calcnlations.
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VI I n% — 1 is prime. thes

J=how that n = 2.
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VII) Prove that 9|(7°% — 4).
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VIII) If p is prime and k > 1, then show that it is impossible for p* to be a perfect number.
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